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5. mm%ﬁwf{ﬁﬁ@ﬁkﬁrﬁf@n FU]
§ #1-91 %97 F&l T8 8 7
(a) ‘F& 1 AT GfegT, BferT SHT 4 & ehell 2
(b) FH I T6Y FHARH H GgITHT &Y 2
(c) T =4sR+ § A &1 &l ®9 W HI’ BT 8
(d) I8’ & |1Y 7’ 1 TN GFHG F81 A

6. Frafafiaa fa avil § @ “smaTE’ FH-T
qu 2 7

(a) T, & (b) ‘31", ‘31
() &, ‘3 d) T,V
(@) & (b) ‘@

(c) B d) 3

8. 38 Hforn A e’ whafaa w1 el 2
(b) 3reTma i feufy

9.

RFL — |

ﬁ%,mﬁqﬁw%,ﬁﬂﬁmgﬁ—gg
@W%lw,mmmﬁﬂa@rmm el 2,
RECIRCINACICE - o TR 91 AFT =Meg | SRl S

Wm%,a—gﬁgﬁmmiﬁmélﬁlﬂﬂqﬂwﬁrﬁ
ﬁ?%,gﬁﬁwmaﬁfmwm’éi

9. i sy  fepmepT feehrd L B 7

(@) <dcd <l (b) WEpfe I
(c) SHfddced =l (d) =HUS <hl

10. uH gl fram & 2 ?
(a) T9 °
(b) g H
(c)-3rTfd |
(d) 3w & @ forelt | &0

11. 3f=A1 &1 3H~< Hal W IE B4l & ?
(@) STEI FesTsdl q
(b) W&l Sfiaq T 3= &/ 8] &
(c) & |
(d) e |

12. i % 359 'R W g1 & o f a=i
HTTHAT &It 8 ?

(a) TET, @ 3R Iy

(b) 3% 3R WM 1
(c)-qutd, TH 3R 3=
(d) 7 ¥ =13 &

13. memmw%m% ?
() ITTH! HEHTE HT TEEY
(b) H w1 TEY
(C) §@ &1 @&y
d) a1 ey
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(b) e
(d) ST & & 7

16. ﬁﬂ%ﬁaﬁﬁaﬁﬁ“{%
B) ¥ (b) ¥
(c) & (d) ‘3
17. fEfafgd art 3 -1 T faamfe fas 6
qﬁﬁﬂ:ﬂ%? X
a) i, ﬁﬁmiﬁﬁiiﬁgﬁﬂaﬁgﬁ‘am%|

(b) Y | =18 ST B | 9T ) gdel s 1)
@(aﬁﬂ,aﬁﬁm&ﬂﬁr,ugwﬁgéaw%nf

(d) e | =Te SiET o Bl | 9T S gEe s R |

Instruction for Question Nos. 21 to 25 :

RFL -1l

18. arma,.ém:mmﬁa?t:{—*eﬁﬁﬁ% ?
a) famt =iy
()ma‘ﬁ:
(c) =S |iY
(d) 3wfea © | 13 &
19. T8 g1 wee # foshR 8 & TohaT &1 2, 3
F&d 8

Read the following passage carefully and answer the following questions that follows :

Education is a device for helping a man to grow to his full stature. It enables him to realize his nature both mentally

e

_and spiritually and in that reallzatmn to become all that he has it in him to be_ It is to the child what perfect gardening

s to the tree, a help so to grow that it may develop its own personality. A good gardener helps each plant to put
forth that essential quality of its own that differentiates it from all other plants and makes it a thing of use and beauty

in the world. The good education performs a similar office for the human being.

To the man of trained faculties and developed tastes the world becomes literally a larger place, larger and the more
exciting. He is able to see in it more beauty, more variety, more Scope ! for his sympathy and understanding than

Ne saw before. So far as the understanding of the universe is concerned while education diminishes certainly of
What is, it widens his sense of the possibilities of what may be and transforms the world from humdrum scene of

Workshop, factory and office to a universe of m

21, Education enables a man

\(8) To realize his nature both mentally and spiritually
(b) To become a gardener

(¢) To be physically strong

~ (d) To become a successful person

ystery and treasure house of beauty.

22 What an educated man is able to see in the world ?
(a) Mountains, hills and bushes
(b) Roads, meadows and inns
MO[E beauty, more variety, more scope for his
sympathy and understanding than he saw before
(d) Rivers, lakes and rocks

3-
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23. The passage “universe of mystery and a treasure

house of beauty” means
(a) Helping a man to develop the best in him

__(by Universe full of mysterious and beautiful things
(c) Education of universe makes a man wise

and beautiful
(d) Education of universe makes him bounteous

~and large hearted

24. What is the work of a good gardener ?
(@) To help each plant to take water
(b) To help each plant to put forth the essential
- quality of its own
(c) To help each plant to grow
(d) To help each plant to be green and healthy

25. The world becomes a larger place and the more
exciting
(@) For a wrestler
(b) For a thief
(c) For a cheat
(d) For a man of trained faculties and developed
tastes

26. In the sentence, “he finished the job at one go”,
the word ‘go’ is
(@) Verb
(b) Noun
(c) Adverb
(d) Adjective

27. Change the sentence ‘| never eat meat, he
explained” into indirect speech.
(@) He explains that | eat meat
(b) He explained to eat meat
() He explained that he never ate meat
(d) | explained that he never eats meat

28. The word Tendezvouys’ means
(@) Endeavour

(b) A place appointed for g meeting
(C) A secret place

(d) Adventure

29

30.

31.

32.

33.

34,

35.

A

RFL .

\Which of the following word is wrongly spelt 2 ﬁ
|
(a) Correspondence 3

(b) Conscience
(c) Occurrence
(d) Conveneince

Change the sentence “let it be done at once” iy,

active voice.

(a) Let it happen at once
(b) Do it atleast once

(c) Let it occur at once
(d) Do it at once

Punctuate the following sentence :

“Whatever is is right.”

(a) Whatever is. Is right ?
(b) Whatever. Is is right.
(c) Whatever is, is right.
(d) Whatever, is, is right

Choose the correct conjunction from the following
options to complete the sentence :

"He got
(@) Until
(b) Because
(¢) Although,
(d) If

he was ill”.

“White elephant” means
(a) Arare object
(b) An uneconomical possession

(6Y"An object that does not exist
(d) A useful possession

Choose the correct s
non
‘abominable’. . U

(a) Disgusting
(b) Cold

(c) Abusive
(d) Hot

In the pipeline’ means

(@) In the Process of pei

be
(b) Partake INg developed
(
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| %
: lowing | .
~ Which ?f g g 1s NOT an interpersona
parrier I

39.

41.

42,

43,

e hed o the North and walked
._ 5 km. How far is he
- (@) 7km

() 4 km

organizational communication 2
(a) Ethnocentrism .

(c) mgratiation
(d) ImpFESSEOH management

Highest degree of communication openness is
nd IN B .
Informal communication
(b) Meta-communu_:ation
() Direct communication
(d) Indirect communication

(a)
b

Which one of the following behaviour is the most
iate for diffusing verbal abuse of co-workers ?

(a) Become defensive |

(b) Get into debate

(c) Refuse to accept harmful language

(d) Keep aggressive body language

Proxemics’ is related to

(a) Neutral Communication

(b) Unidirectional Communication
(c) Verbal Communication

(d) Non-verbal Communication

The key element for effective interpersonal

communication IS

(a) Abstraction

(b) De-sensitization

(c) Active listening

(d) Ego-centric reinforcement

Which one of the following is related with
organisational ecology 7

(a) Centralized Communication

(b) Upward Communication

(c) Lateral Communication

(d) Downward Communication

Smita reckoned sixteenth from the top and
twenty-ninth from the bottom among those who
have passed an examination. Six s.tuden‘ts did
not appear in the examination and five failed |2
it. How many students were there in the class

(a) 40 b) 44
(c) 50 (d) 55
towards East After moving

Ravi started walking

a distance of 1 km, he tur
turne

2km. Fi he turné , .
2 km. Finally tom his starting pO!ﬂt ?

RFL - 11

EaTeess geoey # frefafad ®§ 8 swh-
Ia@ufFaes rauy T8 8 7
(a) warfq shfgdr

(c) Hfshd HaU

(d) FATcHBHd gl

41 Trefafigd § @ -8 @SS qrivefaeh @

16af qur fd W 209 AT | B BE! 3 W O

ﬁmaﬁIBWWﬁaﬁﬁ@lEmﬁﬁ%ﬁﬁ

oF 9 7

(a) 40 (b) 44

(c) 50 (d) 55

fa A £ 3R e e R, 1 R, SeH
& %smgaﬂﬁwﬁmggmﬁﬁﬂsﬁﬁ.

AT |3ﬁ:a’3‘{4£fmam’haﬂ12%ﬁ.am

2| g 48 I H TH 2 3R 9 f&.

S B | S RIS g A aR e gl R

(a) 7 T () 5 T Al

(c) 4 .. (d) 3 f&.m.
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Which one of the following diagrams plroper[:_;
represents the relationship among ‘Body’, ‘Ear’,

‘Mouth' ?

09 Q0D
45. FourmenA, B, C, D and four women W, X, Y Z

are sitting around a table facing each other. If

.. No two men or women are sitting together.

ii. Wis to the right of B.

. 'Y is facing X and is to the left of A.
iv. C is to the right of Z.

44

Then who are the two persons sitting adjacent

toD?
(a) Wand Y (b) Xand W
(c) Xand Z (d) Wand Z

46. In a certain code, 15789 is written as XTZAL

and 2346 is written as NPSU. How will 23549 be
written in that code ?
(@) NPTUL
(c) NPTSL

(b) PNTSL
(d) NBTSL

47. Find the missing number in the following figure :
04 05 06
—
02 | 03 07
01

2]
(a) 94
(c) 92

(b) 88
(d) 86

48.  Which one of the following refers to the framing |

effect’ in the context of decision making ?

(@) The way in which options are presented
" :g:;luen_ce the selection of option
00sIng the option havi '
éxpected utilityp Qe Fanest

() Akind of set point in n
_ S
el of thought in wro g

(d) Looking for eviden
are currently believes

45.

46.

47.

48.

6 QL

A %9 A, B, C, DT IR ARET W, X, Y, ZT i1
% Tl o T gER ) a0 He fhd 98 7 | af
. s ot 3 gy 31ET Higedl IA-E1 T

932 |
i. W B gIfgd % 31 2 |
i, Y X% gra a1 A & oRff % 91 7 |
iv. C, Z % Tlfgd T 9371 2 |
A IS HAE, N DF GH SRS B ?
(a) WaT Y (b) X @& W
(c) Xaur Z (d) Waer Z

fereht ffera e W & 15789 = XTZAL 3tk 2345
H1 NPSU & &9 # forar mar @ | 3eht e w4
23549 ! fh wohR forar s 2
(@) NPTUL (b) PNTSL

(SNPTSL (d) NBTSL
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The tendency of members in 5 highly cohesiy
group to lose critical evaluative decision .
making capabilities is called

(a) Group think

(b) Assertiveness

(c) Group polarization

(d) Cognitive dissonance

49.

50. The decision making style that ‘overly concerned
with keeping everyone happy” is called
(a) Conceptual style
(b) Directive style
(c) Behavioural style
(d) Analytical style

51. Which one ofthe following is NOT a rule for estimating
the likelihood of outcomes of any decision ?
(a) Assessing utility  (b) Representativeness
(c) Availability (d) Adjustment

52. Ina valid standard form of categorical syllogism,
if predicate term is distributed in the conclusion.
then it must be distributed
(a) in both the premises
(b) in minor premises
(c) in major premises
(d) in none of the premises

53. Probability is an attribute of
(a) An inductive argument
(b) A deductive argument
(c) Disjunctive proposition
(d) Categorical proposition

54. Which of the following decision makers are tend
to be good at discovering creative solutions to

the problems ? .
a) Directive style decision makers

Sb Analytic style decision makers

(c) Conceptual style decision makers

(d) Behavioural style decision makers

55. What number would come in the place of
question mark ?

RFL -1l

49. Tl 3=9 g« g4z % G & AT AT
eATATh fofa &drst & 9% & 9 6 wafy
hEATI! 2

(a) 99z 9=

(b) SEdTITehd]

(C) HHE Yot

(d) HIHETHS

50. ool 6t a8 S o1 ¢\t o TEE @ B s
grafig 7, wE Il 8
(a) FFIIATHS el
(b) fFesmeass ek
(c) STIEIH e
CORELSE LR ER G
51 frafeofag § @ s9-a1 Foi & i) st aemeE
% HHE o FEa @ e ?
(a) ITAET H1 A (b) SidlTeERaT
(d) THESH

(C) JYcTsyd]

52. AY WS MR & U AEaE H (¢ 168 18

s o saT &, A 3 ST &A1 A

(a) SHT YR AT H

(b) 3T YR =1 A

(c) J&F YR A& H

(d) Freft oft aur sy | e

53. TEEHTEIT 0T 8
(a) SMTHATHS e hl
(b) frmeTensr gfFa &
(c) Terarsres aehameRl <
(d) TreaTiies Tehame =

54. Trefefgg & @ fp Pofaswraiet § wwenst &
G THTHT e i 3! Jg ?
(a) Fréamenes deft & Fofwerdiasti d
(b) TN DAl falﬂtﬂﬁlaﬁ ‘
(c) TR el o Fofaedia
() TR At o Fofasrais |

55 Tod T & T H S-Hi T Il ?

= 2
2

(b) 84
(d) 66

(b) 84
(d) 66
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56. If'A is B's sister, ‘C'isBsm

how IS
‘E'is D's mother, then
(a) Grandfather (b) Granddaughter

(c) Grandmother (d) Daughter

other, ‘D’is C’s father,

57. If you write down all the numbers from 1 to 100,

then how many times do you write 3 7
(a) 20 (b) 11
(c) 21 (d) 10

58 Choose the odd pair of words :
(a) Volume : Litre (b) Pressure : Barometer

(c) Length : Meter (d) Resistance : Ohm

59 Read the following statements :
| Rama is older than Sonam.
Il. Poonam is older than Rama.
Ill. Sonam is older than Poonam.
If the first two statements are true, then the third
statement is
(a) True
(c) False

(b) Uncertain
(d) None of the above

60. Complete the following series with the correct

option :

3,2 6.8 18,407

(a) 70 (b) 71
(c) 72 (d) 75

61. A shopkeeper marks the price of an article 20%
above its cost price. He offers some discount on
the marked price and gains a profit of 8%. Rate
of discount is
(a) 8% (b) 10%

(c) 12% (d) 15%

62. If'+'means '+, '~ means 'x’, ‘x’ means ‘+ and '+
means -, then 6+ 10-4 x 12 +6 = ?

(@) - 32 (b) 32
(c) —41.4 (d) 48
Yook 3 + xy?
88. If A 2 —;. then the value of AR IS
x> +y°
equal to
(@) 0 b
(b) %

() %

1(d)1

-8-

06.

of.

58.

31}

60.

61.

62.

63.

RFL - |

afe ‘A, BH sg7 2, ‘C, BHI A 7, ‘D', CH fum
2, EDHI AR, a8 AHI DY = &Y 8 7

A fhat ar 3 forga & 2
(a) 20

(b) 11
(c) 21 (@ 10 “
‘-?l‘_ﬁ:i &+ foum qH c 3?:134 :
(a) AT : Sl (b) TETE : A
(c) TEaTg : Hiet (d) FaUY : W
fr=fafiga Al =1 dieu :

| T, §9E 8 39 ° oSt 8 |

I g9, T & 3 H 91 R |

1. G|, 999 | 35 H 991 @ |

afe yzel ol $UF G 8, dl e HeH 2

(a) EH (b) 3tfAfead

() A (d) 3wed | | 13 T

Frfefiaa spaen 1 @@l faehed g ot it
3,2, 5 8, 18, 40, ?

(@) 70 (b) 71

(c) 72 (d) 75

U MR fohHl aq o1 Hod IHeh shdl o | 20%
3t 3ifehd LT & | 98 3ifhd Yo W %@ e ol
2 3T 8% WY HATdT & | T i & &

(a) 8% (b) 10%

(©) 12% (d) 15%

gie ‘+ & Y #, = A ‘K’ ) H 3T+ 3 -
I, TT6+10-4x12+6="7

(@) - 32 (b) 32

(C) —41.4 (d) 48

afe ¥ 2__ = % +xy o oo
X ¥ P
0 .

(a) (b) /3
3

(c) /4 (d) 1
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_ A and B are two sets. A has
64 B has 18 members. AU B = 2
members in A B will be

fa.; (a) 10 (b) 12
5'? 4G'} (c) 8 (d) 6
) ,
%6'3- The diagonals of a rhombus are 32 cm and
b 24 cm. Its perimeter will be
;: (a) 50 cm (b) 60 cm
: (c) 70 cm (d) 80 cm

6. Twovarablesy and x are related asy = 5x + 4 The
arithmetic mean of x is 10. Arithmetic mean of y

will be
(a) 50 (b) 54
(c) 29 (d) 46
67. The mean of first twenty positive even numbers is
(a) 20 (b) 18
(c) 17 (d) 21

68. Which one of the following is a paralinguistic cue
in communication ?
(a) Facial expression
(b) Gesture
(c) Tonal pitch
(d) Posture

69. In which type of communication network there is
likelihood of emergence of a group leader but lower
satisfaction among the member of the group ?

(a) Wheel type (b) Circle type
(c) Chain type (d) Barred type

70. Which ofthe following is an example of organisational
silence in upward communication ?
(a) Distortion (b) Delay

(c) Filtering (d) Lack of response
71. Which of the following is NOT a form of positive
listening ?

b) Reflective listening
(c) Empathic listening
(d) Judgemental listening

72. Which of the following is NOT a communication

barrier related to noise 7
(a) Perceptual problems
(b) Information overload

fai Diagnostic listening

~ (c) Dyadic archetypes
~ (d) Cultural differences

‘.
4
¢
B
N

-9#

64,

65.

66.

67.

68.

69.

70.

1.

is

RFL - 1I

Avd BE gq=ad & | AH 10 Hed & a2y B 1
18U & | AUB=20,d@ An B 5 gem
& 7

(E; 10 (b) 12
(c) 8 (d) 6

feret wrrerqis o faapol 32 Ul a1 24 |1 2 | 3=
gfTg &

(a) 50 At (b) 60 |

(c) 70 9t (d) 80 HHl

& =t y ud x Frefefaa yenr | aefa 2
y = 5x + 4 | If¢ x &1 GHFETGL 7194 10 2, 4 y
&1 GHHET=L J1ET &I

(a) 50 (b) 54

(c) 29 (d) 46

vy 1Y YT G0 HEAIHl H 71 2

(a) 20 (b) 18

(c) 17 (d) 21

frafafiga o & <SR- TN § gUais 554 2 7
(a) F@TRdE AfyeafEd

(b) &TE-9TE

(c) T gra-Hfi &qu

(d) 3Tia=arE

fohd YR o HEINUT Hedeh H HYE & -4dl & 354d &)

Wmﬁ?ﬁ%%w%mﬁgﬁﬁw
?

(a) =k YRR H (b) TR YHK A

(c) @ YR H (d) =TRE R
freferfiga § @ SH-a1 Segd w3
mlﬂ’—l %1 Teh I 8 ?

(a) |
ORERSS (d) R F1 3N

(b)-Srafdd ST
(c) AU
(d) QU
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73. In the communication process, successful
transfer of message can be checked through

(a) Encoding (b) Mediym
(c) Feedback (d) Passive decoding

Cross-departmental Committees are the form of

(a) Optimum Communication
(b) Upward Communication
(c) Downward Communication
(d) Lateral Communication

Aman pointingtoa photograph says — “The lady inthe
photograph is my nephew's matemal grand-mother”.
How is the lady in the photograph related to the man’s
sister, who has no other sister ? She is

(a) Cousin (b) Sister-in-law

(c) Mother (d) Mother-in-law

Find the correct alternative from the following :

Ocean : Pacific : : Island : ?
(a) Greenland (b) Ireland
(c) Netherland (d) Borneo

4.

795.

76.

Arrange the following in a logical order :

1. Frog

2. Eagle

3. Grasshopper
4. Snake

5. Grass
(a) 1,3,5, 2,4
(c) 5,3 1,42

Amonkey climbs a 12 meters high slippery .pillar.
In his first minute, he climbs 2 meters and_ in the
next minute, he slips one meter down. In this way,
how much time will he take to reach the top of

the pillar ?
(a) 10 minutes
(c) 12 minutes

79, Find the number of triangles in the following

7L

(b) 3,4,2 5,1
(d) 5,3,4,2 1

78.

(b) 21 minutes
(d) 11 minutes

figure :

(b) 13
(d) 15

-10-

73.

4.

795.

76.

1.

79.

(a) UHITS (b) ITEATE

(c) v (d) s
ArRRad Y qTfde i § sTafeud i
1. Heh

2. |

3. fegr-

4, |q.

5. °TH.

(a) 1, 3,5, 2,4 (b). 34,2, 5,1
(c).5, 3, 1,4, 2 (d) 5,3, 4,2 1
@aatuma:%%%ﬁ@tﬁmaw% | TE

= fega T 2 | 79 @ 98 fead gua §
¥ i o gge S ?

(a) 10 THe (b) 21 fre

(c) 12 fame (d) 11 fae
ﬁm%%ﬁm@%ﬁﬁgﬁﬁmm@ﬁq
SO

(a) 12 (b) 13

(c) 14 (d) 15
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82.

:

v L
R
4

i

s

B
=
1

§ \

.T_ Mﬂwh the I.__iSt—l with the List —|| an
Ui nswer using the codes given below the Jist

(d) Availability

(a) Heuristics
(c) Analogy

- 83 Which of the following decision making style takes

(a) Analytical style
(c) Directive style
84, The proportion of various sectors in a pi

is directly proportional to
(a) Perimeter of sectors

(b) Angle of sectors
(c) Area of sectors
(d) None of the above

85 Mode of the observations 10, 11,15
B 17, 16, 16, 12, 16, 10, 15,16, 10s

(a) 13
| (c) 16
86. The principal use of ‘de
~ (a) Logical forms (
(¢) Meaning

87 Any valid standard form of cate
-- Uiﬂith a particular conclusion an
~ premises will commit the fallac

(@) lllicit major
(€) Micit minor

d select the correct

List — |
A. All men are mortal. 1,
B. No man are perfect. 2.
C. Some students 2
are intelligent.
D. Some farmers 4
are not rich.

Codes :
A B

List — ||

Universal negative
Particular negative
Universal
affirmative
Particular
affirmative

a) 1 3
b2 4
1
1

bW
MNNWND

(c) 4
(d) 3

The process of judging some problem situati
on the basis of its similarity withpr::ne encc?&t#g;gg
earlier, is known as

(a) Anchoring heuristics

ib) Heuristics of representativeness

c) Adjustment heuristics

Which one of the following sometimes hinders

the problem solving ?
(b) Mental set

(d) Algorithms

longer time ? |
(b) Behavioural style

(d) None of the above

e chart

17, 12, 19,

15
None of the above

(b)
(d)
finition’ is 1O eliminate
b) Rules of grammar
(d) Ambiguity

gorical syllogism
d two universal
y of

(b) Existential fallacy

(d) Undistributed middle

81.

82.

83.

84.

85.

806.

87.

A1-

Th
gl

g — 1w g -1 H Hife 3R gt & A=
Ww@%mmmmﬁ%mww
il - |l
A. Tt T qooefi 2| 1.@%%
B. %I 7gsd i a2l 2. FyFreATdl HEUTHS
C.Wﬁmﬁgﬁaﬂﬂ%l 3 HSATdl HHRIHS
D. %5 fram ut & 2l 4. 3TIreATdl HHRIHSD

% :

A B G D
(3) 1 oin 2 RS
(B) 2 T4 IR
(c) 4 - dip 132
@3 1 S

(a)qw@iasmaa

(b) TGUE  HIT

(c) THEUE! % &AH b e
(d) 3T § | IS T b
Yeroii 10, 11, 16, 17, 12, 13, 17, 16, 16, 12, 16,
10. 15, 16, 10 1 TETh 2 |

(@) 13 (b) 15 ;

(0)16 (d) IRl ¥ | HIE TE
%a%ﬁuwﬁ‘qﬁw’ﬁwm%?
(a)arfé‘»%aﬂw% (b) SR & TR &
) 3 B (d) wfeeaT

%ﬁéﬂmﬁmwﬁtﬁaww
e B T F SNV 9T e/, A I
T fafea g

(a) FFAMT &I 42 (b) ETHS qhely

() FFafiE E T (d) IFAT HEAH
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88. The missing number ( ?) Fn the following series :
60, 180, 90, 270, ?, 405 1S 3
(a) 675 (b)

(c) 360 (©) 19>

89. The age of father is twice that the sum of ages
of his two sons. 20 years later, the age of father

will become the sum of ages of his two sons. The

present age of father is
(a) 40 years (b) 60 years
(c) 30 years (d) 50 years

90. Complete the sequence with the correct option
from the following codes :

EGIK : FILO : : FHJL : ?
(a) JGMP (b) JGPM
(c) GJPM (d) GJMP

91. How many 4's are there in the following which
are preceded by 7 but NOT followed by 3 ?
99321742697461328741383256
74395820187463
(a) Four (b) Three
(c) Six (d) Five

92. In a row of boys, if A who is 10t from the left
and B who is 9" from the right interchange their
positions, A becomes 15t from the left How
many boys are there in the row ?

a)i24 (b) 31
(c) 23 (d) 28

93. Arrange the words given below in a meaningful
sequence :

1. Presentation
2 Recommendation

3. Arrival

4. Discussion

9. Introduction

(@) 3,5,1,4,2 (b) 5,3 4 1 2
(€)3,5,4,2,1 d) 5312 4

7' men and 5 women ¢
ether wi
of s warera Ogether will finish the twice |
(a) 19 days (b) 21 days
(C) 27 days (d) 36 days

88.

89.

90.

2Jil

92

93.

94,

RFL )

. . .
60, 180, 90, 270, ?, 405 H I HEAT (7) 3
(a) 675 (b) 540
(c) 360 (df 135

o & 31g 3@ &1 P AT I H AT H arh
2 1 20 o waTq far 1 A S G F 3wy
AN & SUEL & A | fUdr S adHH 3y 2

(a) 40 a4 (b) 60 @

(c) 30 o (d) 50 =4
PR e sl § & @) fished g s =)
qui i

EGIK: FILO:: FHJL:?

(a) JGMP (b) JGPM

(c) GJPM (d) GJMP

Ffefiga & fohea W& 4 € R 72at 7 2, 3w
oG H 37E R 7

593217426974613287413832586
7439582018746 3

(a) =R (b) o=

(c) o (d) 99

TAShI 1 T Ul o qfe A, w1E 3t Y 10§ o
?%ﬂaﬁ#ﬂﬁgémm%,ﬁaﬁm
mﬁmﬁméﬁ%,aﬂwﬁﬁr{ﬁwé

T R E AR | U ot fred ek § 2

(a) 24 (b) 31

(c) 23 (d) 28
ﬂéﬁqﬁwaﬁmwﬁm@ﬁ?ﬁﬁu:
1. srgfe

2. q&fd

3. I

4. <=

5. I=g

(@f 3,5, 1, 4,2 (b) '5:8.4 18

(@) 3,54 2 1 (d) 5,3 1 od

3 It A1 7 3N Th w32 fo # g o
& | 7 3merht 3 5 3 free 3% o @ #

qu S
(@) 19 fei (b) 21 fei o
(c) 27 fei d (d) 36 fe=i #
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g5, - TWO trains of length 127 mt and 98 mt. are e
in opposite directions with speed 35‘ Rt oving
55 km/hr respectively. After oo r
cross each other in

(a) 6 seconds
(c) 9 seconds

and
g they will

(b) 8 secongs
(d) 10 seconds

B V3 = =
i+ Y= = 35 and xy = 6, x > y, then valye of

(x —y) will be
- (a) 1 (b) 2
(c) 3 (d) None of the above

g7. If (x - 1_) and (x + 1) are two factors of the
polynomial x® — 1, then its other factors are

(@) (@ + 1), (% +x + 1)
(b) (x2 + 1), (x¢ —x—1)
(€) (¥ —=x+1), (X2 +x+1)
(d) (x2—x—1), (X2 +x-1)

Arectangular field is 112 mt. long and 62 mt. broad.
A cubical tank of edge 6 mt. is dug at each of the
four corners of the field and the soil so removed
is evenly spread on the remaining field. Find the
rise in the level of the field.

(@) 13.13 cm (b) 11.9 cm

€)'12.7 cm (d) 14.24 cm

98.

L
R .
i A s - i e
B v o .
By S

99. The radius of a solid sphere of a metal is
i 3 cm. How long wire of diameter 4 mm can be

drawn from it ?
(a) 8.8 mt.

- (c) 9.6 mt.

(d) 9.1 mt

Seventeen candidates appear.ed In in
examination. The marks of the candidates ;v 70
failed in the examination are 10, 0:6. 7, 8 t, n
5, 4 6. The median of marks of all seventee

- candidates is

- (a)6

R ()7

(0)9

~ (d) None of the above

P

|

95.

96.

97.

98.

99.

100.

RFL -

127 Hitex 3k 98 Hiex ot gt {amfsat faudia feems
5 SPIER 35 R, /e @ 55 Rl /5 Y =T |
ST @ R | firem % fpad AHT 916 9 TH-gEL
TR St 2

(a) 6 Tsvg (b) 8 HHUE

(c) 9THve (d) 10 HehUS

Er%f-'¢3+3.*3=:3.."13f1"{)q.f:'ES,::-:‘:--3,r1?ﬁ(Jn:—z..f)a?r
RIER )
(@) 1
(c) 3

(b) 2
(d) 39ded | | I3 TE

afe wgyg x6 - 1% & HETS (x— 1) W
(X + 1) 3, T ITF I UHETS 2

(@) (x2+ 1), (x2+x+1)

X2 —x—=1), (x2+x—1)

UH FAAER Td i o 112 @ U SSE
6271, 2 | 6. AR &1 Teh THTHR ¢k @d & 9/

| @R T 3R S ) gerd wh 6 = wd
R guae fast feam man | @a & &R Fed g3

(a) 13.13 9 (b) 11.9 9
(c) 12.7 |t (d) 14.24 &1

fopelt uTq % U 3 Tt <Y fsan 3 &t @ | 3EE
4 Tt =g 1 e ol AR Eie ST |ehdT & 7

(a) 8.8 HIX (b) 9.0 HiX
(c) 9.6 HieX (d) 9.1 HIX

gz sngeff ferdt wlien & wfeferd g2 | St 3rwaeff
ofte 1 3TE®S &5 Heh Wk 10,9, 6,7, 8,8,7, 5,
4 63 | W g SN o Wredieh <l e
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